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COMPUTER SCIENCE AND APPLICATIONS
PAPER-II

Note : This paper contams One Hundred (100) mu1t1ple-choxce matchlng questlons
each questlon carrying TWO (2) marks. Attempt All the questlons

1. . If P and Q are two propositional variables, which of the following is not a

tautology ? )
@ P=(PAQ B) P=>(PvQ)
© (PrQ = P | D PrQ = PvQ

2, Co_nsider the Universe _fb be the set of natural nu;m_bers and let the
predicate E(x) denote “x is éven ” and the predicate. P(x)=denote “x is a prime”.
Which of the following is the correct form for the assertion “2 is the only
even prime” ? ' ' ‘

(A) W[Ex)APKX)] 7

(B)  Ex) A Plx) = (x = 2)]
(©) ValE(x) AP@) = (x=2)]
D) I[Ex)APx)A(x =2)]

‘3. If a binary relatlon between two sets is reﬂexwe and transmve, it will be’

a partial order if it also has the following property :.
" (A) Asymmetry S (B) Antisymmetry
€ Symmetry (D) Amsymmetry

4. | ~ In any group of 100 persons, what is the. mm1mum number of people who

can be sure to have born in the same month ?
(A) 8 - (B) 9
(O 10 o D) 12
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5. A hom'ombrphism between two groups is an isombrphism,_ if it has the following
additional property : | '

(A) Injective ' ~ (B) Surjective
(C) - Bijective - (D) Conjuctive
" 6. In a Hamiltonian graph of n vertices, what is the number of edges present

" in a Hamiltonian circuit of the graph ?
@ : B n-1
(0 n+1 , . ® on
7 . " Ina simple-connected graph of 10 vertic;as and 15 edges, how mahy fundamental
" circuits exist with respect to any spanning tree of the graph ?

@a 10 - B 15
© 5 | | @) 6
8 In Boolean-algebra with the + and . binary operators and x, y, z are Boolean

variables, which of the following represents a distributive law ?
(A) x(x+y) = x -~ B) xy.2) = &Yz
(C) x+(y.z) = -(x+y)..(x+z) | D # +(xy) = x
9.  Consider the LPP : Minimize 4x + 6y
| S_ubjéct;, to constraints . x - 2y < 1;
| "2x. + 3y 2 6;
y-2x<1; |
’ Xy .2-0.
Then the LPP has ........ AR
(A) 'No feasible s(ﬂution ‘ . (B) Unbounded solution
(C) Unique solution : | (D) Inﬁﬁitely maﬁy solutions
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10. Consider a project represented by the follow_ing network, in which numbers

in the c_:ircle_slindi‘cate event numbers, arrows indicate activities, letters along

the -arrows indicate activity name and numbers along the arrows represent o

the time required for the activity.

Then which of activities C and H afe critical ?
(A) C is critical but H is not
: (B) H is critical but C is not
(C) Both C and H are critical
(D) Neither of C and H is eritical
11, If an _Octei: of 1’s occurs in 't_he Karnaugh map of a boolean: ﬁmctidn_, hqﬁ _
many variables are eliminated from the function during simplification ?
@ s ® 4 |
© 2 - _i ™ 3
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12.

13.

In an S'R latch miade up of a pair of crbss-connected NAND gates, which of

the followmg mputs at the S and R terrmnals is prohlblted (avouied) ?
@ o0 ® 01

© 10 ® 11

- Ifa digital device represents signed integers in.6-bits using the 2’s complement |

storage conventioh, how is the value -21 represented ?

@) o10101 ~(B) 101010

14.

15.

16:

© 101011 (D) 100011

In the IEEE-754, 32-bit representatlon of floating point numbers, how many

blts are used to represent the normahzed mantlssa ?

(A) 26 - (B) 23

c 24 ' . (D) 8

If a CPU register cbntains an 8-bit unsigned integer with MSB 0, which of
the following operations will be equivalent to doubling the value in the register ?

(A) SHIFT-RIGHT = (B) SHIFT-LEFT

(C) INCREMENT (D) COMPLEMENT

In & busaorgénized CPU, the Mezhory Address Register receives the memory

address of the next instruction to be executed from which register ?
(A) Accumulator - . (B) Instruction Register

(C) Program Counter | : (D) : RAM

" Comp. Sci. and App.-II 6



17 . :If a Microprocessor has a 16;b_it address bus that can address individual bytes

in RAM, what is the maximum size of RAM that can be accommodated ?
(A) 1 MB- | (B) 16 KB
(C) 64 KB - D) 256 KB -

18. Which .register is responsible to h_old'temporarﬂy results of ALU (Ari,th_metic

~ and Logic Unit) operations ?
.' (A). Mémory Buffer Register | - (B) Instruction Register B
(&) Accumulator.. u o (D) Program Counter )
'19.  Consider following statements-_with respect to Access. time of co'mpotor system.

(I) For non-random access memory, access time is the time it takes to',position "

the readwrite head at the desired loca_tion.

(II) For random access memory, access time is the time it takes to perform

a read or write operation.

(III) Access time is the time which data can be frarisferred into or out of

Memory-Unit.
Which one from the followihg is irue for above sta@emohts ?
(A) (I)_and fIII) are true -
(B) (II) and (IID) are true
- (C) Only (D) is true

(D) (I) and (II) are true
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20. Accessmg ‘the elementé sequentially of one-dimensional array is associated
with : B o | |
(A) Principle of Locality - Spatial
®) -'Pfinciple of .L'OCality - Terﬁporal
(C) Unit of Transfer o
(D) Hit Ratio
21. Consider the following program :

#define Swap(a,b) temp=(a);(a)=(b);(b)=temp; temp=0;
void main(void) |

| .

‘ int ijtemp; i = 5; j = 10; temp = 0
if G > j) Swap(i,j); |
printf("i=%d j:%d“, i)
i=10; j=5; |
if G > j) Swapliy);
printfi=%d j=%d\n" -i,j‘);
)
The output is : |
(A) 1005 10 . ®) 5105 10
(C) 105105 | o s 0510
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22.

23,

24.

25.

- Con31der the followmg C statements : . T ‘ P _

@ i<3: do printA"%d\n"i); while(++i<5);

@) i=3; while(++i<5) printf("%d\n",i);

| Gid) for(i=3; i<5; ++i) printf"%d\n", i);

(v) i=3; if(++i<5) printf("%d\n",i);

" In how many of the above statements the output changes when ++i is replaced'

with i++ ? ' 4 7' )
Aa 1 @B 2
© 3 | @) 4

Usually a pure virtual function :

(A) has comf)lete function body

(B) will never be called

(C) will be called only to delete an object
D) is deﬁned only in derived class ’

Run Time Polymorphlsm in C++ 1s achleved by erererrareesranas .

(A) friend function. - (B) v1rtua1 function
-(C) operator overloadmg (D) function overloadmg

When a Java applet is terminated which of the followmg sequenoe of method
calls take place ?

(A) stop(),paint(),destroy()

(B) destroy(),stop(),paint()
©) destroy(),stop()

(D) stop(),destroy() __
- Comp. Sci. andApp.-H' ' 9 - . . [PTO)



26.  Which of the following statement(s) is/are true ?
(i) Bresenham algorithm is faster than DDA algorithm.

(if) The DDA algorithm involves ﬂoating point values while in Bresenham

| algorithm only integer values are used.

(iii) DDA uses multiplication and division operations while Bresenham

algorithm uses addition and subtraction.’
() Only () is true
(B) Only (i) and (i) are true
(©) on_iy (i) and (iii) are true
(D) All three are tme

27.  Which of the following homogeneous coordinates re_pfesents a 2D point at’

infinity ? o | | R
4 o, 10,100 B) (©, 10, 10).
(O) (10, 0, 10) R O (0, 10, 0)

28. Consider a triangle with the corners P (1, 1), Q (2, -1) and R (4, 2). What
are the new coordinates of triangle after rotation of 90 degrees about the _
corner P ?

(A) (1,1), 4, 2) and (2, 4)

(B) (1, 1), (3, 9 and (2, 6)

© @, 1), (3, 2 and (0, 4

@) @, 1), @, 3) and (A, 3)
-Comp. Sci. and App.-IT o 10



29.

30.

31

32.

- 33.

Consider a raster system with resolution of 1280 x 1024. What is the size
of frame buffer to store 24 bit pixels ? )

(A) 4608 KB | (B) 3840 KB

(©) 1920 KB | D) 1280 KB

Which of the followihg is not a properfy of perspective trangformations ?

(A) ﬁParallel., lines appear to. converge in a vaﬁishiﬂg point

(B) Object Size reduces as distance from the centre of projection incfeases
(C_) Foreéhortening_ of 1ines depends on both orientation and distance |
(D) The shape of the objectl is preserved ‘

A relationship linking a weak entity set to a strong en_tity set :

(A) Is to be converted to a single table

(B) Is to be considered as part of the strong entity

C) Is -redundant and does not need to be converted to a‘. table

(D) Is to be converted to an attribute |

Which of the following‘ commands cannot be used in a Database Trigger:
(A) SELECT  (B) DELETE |

' (C) ROLLBACK : (D) INSERT

If a relation R is decompoéed into R1 and R2, we say the decomposition is |

lossless, if :

" (A) The intersection of R1 and R2 is a null set .'

(B) R1 and R2 have no common attributes
(C) The intersection of R1 and R2 is a key of either of them -

(D) The intersection of R1 and R2 is not a key of either of them
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34.

35.

- 36.

37.

- 38.

Consider two tables Dept{dno, floorno) - containing details about dep,artments

located on which floors, and F_loor(ﬂoorno) - all poésible_ floors. Which Relational
~ Algebraic operator would be used to find departments which are located on

all the floors ?

* (A) DIVISION | (B) PROJECTION

(C) - NATURAL JOIN (D) SELECTION

The Shared Intention Exclusive lock of the multiple granulaf_ity protocol is
" compatible wifh which of the following locks ?

(A) Exclusive  (B)" Shared

(C) Intention Sh_afed - (D) Intention Exclusive

- A relation with three attributes having one prime and two non-prime attribute

will definitely be in :

(A) 2NF | (B) 3NF

~ (©) BONF | (D) 4NF

A data model for a Data Warehouse which has more _than one fact table and

many dimension tables is called :-
(A) Snov{rﬂake Schema , (B) Galaxy Schema
(C) Star Schema (D) Cloud Schema

Which of the following metric is called the true positive rate in evaluating

a classifier’s performance ?
(A) Accuracy . (B) Sensitivity

(C) Specificity _ ' (D) Precision

" Comp. Sci.and App.-II 12



39.

40.

41.

- The k-Means Clustering method is an 1terat1ve method which s.tops when : .

(A) Clusters formed in the current and previous 1terat10n are same
(B) k iterations are completed
(C) Each cluster contains apprommately k obJects

(D) All noise points have been removed from the clusters

In the Market Basket Analysis, the measure Support for rule interestingness

is given by :
Support(A—B) where A and B are,iteinsets. It is same as :
(A) P(B/A) ' (B) P(A/B)

(© PAUB) @) P(ANB)

. Consider the following statements ‘for CPU scheduling algorithms :

(@ FCFS Scheduling suffers from convoy effect.

" (i) Priority Scheduling can suffer from deadlock.

G If the time quantum is - large, Round Robin reduces to the FCFS

scheduling algorithm.
Which one from fhe fbllowing is true ?
(A)_ (i) and (it) are true but (i) is false
(B) tiii) is true but (i) and (ii) are false
(C) - (i) and (iii) a;re true but (i) is false

(D) (@) and Gii) are true but (i) is false
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‘42. Which of the following conditions is not responsible for a deadlock té occur ?
(A) Hold and wait . . (B) Circular wait
(C) Preemption . o '(D) Mutual exclusion
'43.  Which of the folldwing is not a Linux system ?
(A) Cassandra " (B) Debian
(C) Red Hz:;lt (D) SuSE
44. Which scheduler coni?rbls_ the degree of multiprogramming ?
(A) Short Term Sch_eduler | |
(B) CPU Sched.uier
(C) Long Term Scheduler |
(D) Medium Term Scheduler
45. Disf)atch latency is the time taken by the dispatcher to E
(A) S_t_op the running process
.. (.B). Stop one process and start running another.
©) Select g' victim 'pl;oéess |
(D) Select a victim procesé aﬁd a ready process

46. Which of the following techniques can be used to prevent starvation of a

process ?
(A) Thread scheduling (B) Pfocéss. Prioritization
(C) Process Balancing D) Aging

Comp. Sci. and App.-II | 14




47.

48.

49.

50.

51.

A diStﬂbuted sy.s-tem‘ is a collection of processors that :

(A) do not share cl_ock‘but share memory |

(B) do not share memory but share clock

Q). do not share membry or clock -

(D) share both memory aﬁd clock

Which one of the following is not a method of allocating disk spacé- ?
(A) Contiguous allocation " (B) Virtual ailocation

(C) Linked allocatioh' o (D) Indexed allocation

A memory management scheme that supports user view of memory is :

(A) First fit ' (B) Paging -

.(C) Segmentation ' (D) Swapping

Which one of the following is not a requirement to solve the critical section

problem ?
(A) No Preemption (B) Progress
© Bounded ‘Waiting =~ - (D) Mutual Exclusion |

Phase containment of errors in Software Engineering refers to the :
(A) Debugging defects during development

(B) Detecting and removing defects early in the process of development

(C) Predicting defects before development

(D) Detecting and removing defects during testing
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52.

-B3..

54.

55,

56.

A balanced DFD is obtained by :
(A)  Inspection | - (B) Validation
(C) Organization _ ‘ _ (D) Refactoring

For the development of a data entry project for office staﬁ' who have never

used computers before (user interface and user friendliness are extremely -

~ important), one will use :

- (A) Spiral model ' (B) Component based model

(C) PrOtotyping model (D) Waterfall model
Which of the following statements is true about UML stereotypes ?

(A) A stereotyped class must be abstract

_ (B) The stereotype {frozen) mdlcates that the UML element cannot be changed
©) UML profiles can be stereotyped for backward compatibility -

(D) A stereotype is used for extending the UML language

When a single task/functlon trlggers other data flow along one of the many

paths of a data flow diagram, ................ characterlzes the information ﬂow
(A) High coupling. | (B) Poor modularity
(C) Transaction flow _ (D) Transform flow

Validation is pei'formed- to ensure that :

" (A) The product conforms to its specification

(B) The product conforms to its design

- (C) The product possesses quality attributes
(D) The product passed all tests

Comp.Sci.and App.- I 16



57.

58.

59.

60.

61.

Which of the foﬁowing features is incorporated in feature point metric but

not in the function point metric ?

(A)  Number of inputs ' . ®) Number of outputs

(©) Méofithmic éomplexity | (D) Number of interfaces
McCabe cyclomatic metﬁc Cofa graph‘ G with p predicates is :
&) p+1 . ® p+2
C) p+3 - D) p +4

-

What is the intention of designing a set of test cases for testing ?

(A) To increase reliability of the product

(B) To produce an operational system

(C) To prove that the program under test is correct . .

(D) To prove .that. the program under test is incorrect

cevreereeeeeaea is the reuse of reusable components without any modification such

as standardization, wrapping techniques etc.

(A) White-box reuse ‘ : (B) Black-box reuse
(C) Adoptive reuse - D) Generative reuse

The running times to remove the first, last and middle elements of a circular

linked list are :
@) oW, om,o0m (B 0w, 0, O

©) 0Q), Om), Om) . ‘@ 0(1), O(1), Oliog n)
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82

63.

64.

65.

~ Which of the following sorting algorithms has the fastest-possible best-case

time ?
(A) Quick sort | (B) - Insertion sort
(C) Merge-sort (D) Selection sort

Let T be a binary search tree on 24 distinct keys; the left subtree T1 has

- 7 keys and the right subtree T2 has 16 keys. Which of the following is true

of the 13th smallest of the keys in T ?

' (A) It is the 13th smallest key in T2.

(B): It is the 8th smallest key in T2.
(C) 1t is the 5th smallest key in T2.
(D) It is the 6th smallest key in T2.

The searching technique/data structure that is designed to take O(1) time

to ﬁnd a data is :
(A) B* Tree (B) Binary Search
(C) Hashing (D) AVL Tree

The most appropriate data structure for implementation of Breadth First

Traversal on a graph is :

(A) Queue | | (B) Stack

" (O) Singly linked list - (D) B+ Tree
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66.

67.

68.

. The followmg three are known to be the preorder, inorder and _postorder

sequences of a binary tree. But it is not known which is which.

I MBCAFHPYK

. II. KAMCBYPFH
IIL. MABCKYFPH

Pick the true statement from the following :
A) 1 and II are p_reorder and inorder sequences respectively.
(B) I and III are preorder and postorder sequences respectively.

(C) Ilis the inorder sequence,'but nothing more can be said about the other

two sequences

(D) II and III are the preorder and inorder sequences respectlvely

| Consider a Wei'ghted undirected graph with positive edge weights and let

(u, v) be an edge in the graph. It is known that the shortest path from source
vertex s to u has weight 55 and shortest path from s to v has we1ght 65.

Which statement is always true ?

(A) Weight (u, v) < 10 (B) Weight (u, v) >= ‘10

(C) Weight (u, v) = 10 "(D)' Weight (u, v) > 10

Whlch is optimal value in the case of fractional knapsack problem for knapsack
with capacity of 5 and following 3 items :

Weight : 2 3 4
Profit : 60 75 90 _
A) 185 | . ® 270

() 150 | | D) 165

Comp.Sci.andApp.-TT 19 . [PTO]




'_ 69.  Which of the following algorithm design _techﬁique breaks problems down into
" smaller overlapping subproblems that are solved recursively, but stores the

- solutions to subproblems for possible reuse ?
(A) Greedy-Method | (B) Dynamic Programming
(C) Divide & Conquer -_ D) chktfacking |
70. Whiéh of the fo’llow‘ing problems does rot -belon_g to class P ?
(A) .Findﬁlg ,Shbrtésf péth between any node pairé in a 'g'raph
(B)  Finding Minimum Spanning Tree
| C) on Knai:sack problem |
(D) -Fractional Knapéack problem
: 7 1. Co';ltext ?rée Grammar is :
"(A) Type 2 Grammar | (B). Type 3 Grammar
(C) Type 4 Grammar (D) Type 5 Grammar
‘72. How' many ﬁf the.foﬂowi'ng languages are regular for % =10, 1} 7.
| 0._ Set‘of all ﬁvords Which have an equal number of dfs and s,
s W = {0P|p is not a prime number} | |

e The binary encodings of numbers divisible by 3 {e, 11, 110, 1001, 1100,
1111, etc.} |

o Set of all strings whose length is neither divisible by 2 nor by 5
@a 1 | B) 2
© 3 o D) 4
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73. -.H'ow many éf the foﬂowing" statements .are trﬁe for Universal Turing Machine ?
e Itis capéble of imitating. any Turing Mac_hin.é.
It.' is a siligle machiﬁe used to compute any computablé se.quence,
1t has an. .-'abjlity to manipulété. é.n unbounded amo#nt of .da-t_a. .
It can accept .any re‘cprsi.vély ehumefabl‘e_ language.
@ 1 o ® 2

© 3 S 4

Which of the following statements about closure properties of formal laﬂguages

is not True ‘7
(A) If K and L gre rég_ular lang‘uages thén so are the languages -‘KuL, '
KA~L> and_ coﬁplement of L |
If K and 'L are context-free l.ang'uéges, so are Kul, concat:.eﬁati_on- of
K and L, and Kleene star of L
If K and L are coptext;sensitive, languages then so are théii- unioﬂ, R
inﬁerséction, concatenation.

If K and L are recursively enumerable languages then so are their union,

set difference and complement of L
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75.

- 76.

77.

78.

79.

Which of the following Formal language and Abstract Machine correspondence

i8 not correct ?

(A) Recursix}ely enumerable and Tux'ing Machine
(B) Context sensitive and Deterministic Pushdown Automata

C) C_ohte:tt' free and Non-Deterministic Pushdown Automata

(D) Regular and Deterministic Finite Automata

What is the instruction cost of the following instruction : SUB 3 (R0), * 16 (R1) ?

(A 2 | - ® 3

© 4 | D 5
Which among the folloiv-ing methods uses temporary names to store the values

of three address codes into symbol table ?

(A : Indirect triples ‘ o (B) Triples

(C) Syntax tree (D Quadruples

The intersection of regular languages (a+b)*a and b(a+b)* IS g_iﬁen .gs :
(A) ba+by*a | (B (avbyabla+b)*

©) ala+byb D) abla+b)*

Which among the folloWing data structures is used in non-recursive,predictivé

parsing to store grammar symbols ?

@) Array | (B) Queue

(C) Linked list - (D) Stack
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Type checking in source program is performed to eneure thet‘_: ,
(A) Lexical and semant’ic conventions are followed
(B) S.yntactic and semantic cenventions are foll_dﬁved
©) Lexical, syntaetic and semantic conventions are follovs}ed :
D) _Code optirnization conventions ere followed

A system is designed to convert analog- signals to digital Signals with a
4-bit converter and transnnt them What bit rate is required if the analog 7

s1gnal consists of frequenc1es between 400Hz to 3400 Hz ?

~ (A) 14 kbps | | (B) 10 kbps

(O 18 Kbps. o D) 12 kbps

What is the Hamming code for ASCII character ‘0’ = 1010101 ‘? Assume even |

parity for the Hamming code.
(A) 1111010001 (B) 10100101111
(C) 10010101111 (@ 10101001111 .

Which of the following is a measure of the loss of strength in the signal while

passing through a medium ? .
(A) Amplification . (B) Attenuation -
(C) Modulation (D) Bandwidth
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- 84.

Intet'faoe MesSage Processo.rs (IMPs) are 'u'sed\ :
(A) to connect two or more transnﬁseion lines

_. ('B)-: to connect two or more hosts
() to connect two or more subnets

| (D..) to_i"t":onneEt' two or n"iote' .geteways :

:85. * rvieesieensan is a device that moves all packets from one network segment to

another by regeneratmg, retlmmg and amphfymg the eIectrlcal signals.
V(A) Brldge o S (B) Routerv -

(© Repeater _ (D) Hub

86. Which one of the following aspects is not considered in distance vector routing

algorithm at network layer ?

" (A) Information sharing at regular interxfal

(B) Congestion conti'ol -
(C) Routing only to neighbours
(D) Knowledge about the whole network -

- 87. Whlch one of the followmg is not an operation of FTP ?
(A) Connecting to a remote host
(B) Navigating the directory structure
(C) " Storing files o
(D) Transférring files
'Comp.-Soi.andApp.-II e 2_4.




Using the RSA public key crypto system with p= 18, q = 31 and_.d =1, - :

. what is the value gf e ?
@ €0 . ® 36‘1-__'._:.
© 102 s L oo
_%ich one of the foliowing 1snot an elei;lent of‘Intemet.df Thmgs (I.o.'f.ll.‘.) 'f‘
{A) Process | (B) Security |
| (Cj Tixings ' | I(D) People
CDMA systéms exhibit soft handover due to :
(A) Aui;.o-correlation c_odes- used in each cell
(B) Each cell ‘.ﬁsing same spr'elad freQue_nc'& spectrum.
(C) Negligible narrow-band interferepce and co-channel interference of the
signal
1)) -.Each ceil having -la distinct pSeudo-ndise code offset

“To infer logically E; v Eg by inference resolution rules, which pair of axioms -

from the‘ following -are appropriate ?
.(A) E; v By and -~E; A Ej
(B) E; v Eg and Eg v —E
© Ey A By and ~Ep n Eg
@) El v Ey and —Ey v Eg
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92.

: Wthh of the followmg converts a given input word 1nt.o its root (i.e. base)_- .
| form as output ? o |
(A) Lemmatizer - (B) POS tagger
(C) Tokenizer -_ (D) Levenshtein method .'
93. The Linguistic variable (qualifier) used in diluting fuzzy membership function
' is : | |
(&) usually (B close to
© very @) quite
94.  Which Supervised Leafning algorithm considers all initial weights as zero ?‘
(A) | Hebbian learning . _ o ;
(E) Delta learning | | |
(C) Least Meén Square (i.e. Widrow-Hoff) leaming
D) Correlation learning | |
95. The data structure used in Crossover operation of genetie algorithms is :
(A) Tree | s ~ (B) Graph
(C) Linked List | (D) Queue
96. The Grammar based text parsing techmque used for noun and verb phrase'
as well as subject and object detection is : |
. (A) Bag of Words (BOW)
(B) N-Gram and CFG
l(C) Syntactlc (.e. Dependency) and Constltuency
(D) CFG and BOW \
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Which one of the following is FALSE for STRIPS - an approach to planning ?

(A) It is feature-centric representation.
(B) It deals withrobjects, actions, preconditions, and effects.
(C) It uses First order logic notation to state obJects and act1ons

(D) PDDLis one of the commonly used language for writing STRIPS domam

and problem sets.

A 4 input neuron has weights 4, 3, 2 and 1. The transfer function is Hﬁea_r_
with the constant of proportionality equal to 2. If inputs are 5, 4_, 10 and

50 respectlvely then output of the neuron will be :
(A) 102. - ® 204 -
(C) 69 7 ' ®) 138 -

Thg Genetic oﬁérator Which randomly flips individual bits of a chromosome
in the next_géneration is called_.: |
(A) Selection operator (B) Crossover opérator
-(C) Mutation operator D) _Recombinatiorl operator
| 100. The rule of simﬁlex reflex agent in. Al is :
(A) Simple - Action ' (B) Simple - Condition

(C) Condition - Action " (D) Both (A) and (B)
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ROUGH WORK
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